

1. (2) $u = \frac{y}{x}$ とおくと $y = xu$ より $y' = u + xu'$ とおくと
 $u + xu' = 3u - 1$ 整理して $\frac{1}{2u-1} u' = \frac{1}{x}$
 $\frac{1}{2} \log |2u-1| = \log |x| + C \therefore 2u-1 = Cx^2$
 (3) u を用いて $2 \frac{y}{x} = Cx^2 + 1 \therefore y = Cx^3 + \frac{x}{2}$ (C:任意定数)
 $y(1) = 2$ より $y(1) = C + \frac{1}{2} = 2 \therefore C = \frac{3}{2}$
 よって $y = \frac{3}{2}x^3 + \frac{1}{2}x$

2. (1) $p = y'$ とおくと $p' = (p+1)^2$ より $\frac{1}{(p+1)^2} p' = 1$
 $\int \frac{dp}{(p+1)^2} = \int dx + C \therefore -\frac{1}{p+1} = x + C_1$
 $p = \frac{1}{C_1 - x} - 1 \therefore y = \int \left(\frac{1}{C_1 - x} - 1 \right) dx + C_2$
 $y = -\log |C_1 - x| - x + C_2$ (C₁, C₂:任意定数)
 $y = -\log |x + C_1| - x + C_2$ とおくと
 (2) $y'(0) = p(0) = \frac{1}{C_1} - 1 = 0 \therefore C_1 = 1$ より
 $y = -\log |1 - x| - x + C_2$
 $y(0) = -\log |1 + C_2| = C_2 = 1 \therefore C_2 = 1$
 よって $y = -\log |1 - x| - x + 1$
 $y = -\log |x - 1| - x + 1$ とおくと

1. (1) $\frac{y'}{y} = \frac{3}{x}$ より $\int \frac{dy}{y} = \int \frac{3}{x} dx + C, \log |y| = 3 \log |x| + C$
 $\therefore y = C|x^3|^{(1)}$ $y = u(x)x^3$ とおくと
 $u'x^3 + 3ux^2 - 3ux^2 = -1, u' = -\frac{1}{x^3}$ (2)
 $u = \frac{1}{2x^2} + C$ $\therefore y = ux^3 = \frac{x}{2} + Cx^3$ (C:任意定数)
 よって
 [1] x^3 [2] $-\frac{1}{x^3}$ [3] $\frac{1}{2x^2}$
 [4] $\frac{x}{2} + Cx^3$

3
 (1) 特性方程式は $\lambda^2 + 2\lambda + 1 = 0$ より $\lambda = -1$ (2重根)
 従って一般解は $y = (C_1 + C_2 x)e^{-x}$ (C₁, C₂:任意定数)
 (2) $\eta' = 2Ax + B, \eta'' = 2A$ とおくと $2A + 2(2Ax + B) + A^2 + Bx + C = 2x^2 - 6x - 7$
 $Ax^2 + (4A + B)x + 2A + 2B + C = 2x^2 - 6x - 7$
 $\therefore A = 2, 4A + B = -6$ より $B = -14, C = -7 - 2A - 2B = 17$
 (3) $y = (C_1 + C_2 x)e^{-x} + 2x^2 - 14x + 17$ (C₁, C₂:任意定数)
 (4) $y(0) = C_1 + 17 = 0 \therefore C_1 = -17$
 $y' = (C_2 - C_1 - C_2 x)e^{-x} + 4x - 14$ より $y'(0) = C_2 - C_1 - 14 = 0$
 $\therefore C_2 = C_1 + 14 = -3$ とおくと
 $y = -(17 + 3x)e^{-x} + 2x^2 - 14x + 17$ (4)

4. (1) $y = x' - 4x - t$... (2) $y' = x'' - 4x' - 1$... (3)
 (3), (4) と (2) より $x'' - 4x' - 1 = -2x + x' - 4x - t - 5t + 1$
 $\therefore x'' - 5x' + 6x = -6t + 2$... (5)
 $x'' - 5x' + 6x = 0$ の解は $x = C_1 e^{2t} + C_2 e^{3t}$ (4), (5)
 (5) の 1 の解は $x = At + B$ とおくと $x = -t - \frac{1}{2}$ (6)
 よって (5) の一般解は $x = C_1 e^{2t} + C_2 e^{3t} - t - \frac{1}{2}$ とおくと
 (6) と (1) より $x' = 2C_1 e^{2t} + 3C_2 e^{3t} - 1$ とおくと
 $y = 2C_1 e^{2t} + 3C_2 e^{3t} - 1 - 4C_1 e^{2t} - 4C_2 e^{3t} + 4t + 2 - t$
 $\therefore y = -2C_1 e^{2t} - C_2 e^{3t} + 3t + 1$ (8) とおくと

(1) 5 (2) 6 (3) $-6t + 2$ (4) 2 (5) 3
 (6) $-t - \frac{1}{2}$
 (7) $C_1 e^{2t} + C_2 e^{3t} - t - \frac{1}{2}$
 (8) $-2C_1 e^{2t} - C_2 e^{3t} + 3t + 1$

5 (1) $7! = 8! = 1 \cdot 2 \cdot 3 \cdot 4 \cdot 5 \cdot 6 \cdot 7 \cdot 8 = 40320$
 (2) $\Gamma\left(\frac{3}{2}\right) = \frac{1}{2} \Gamma\left(\frac{1}{2}\right) = \frac{\sqrt{\pi}}{2}$
 (3) $\Gamma\left(\frac{7}{2}\right) = \frac{5}{2} \cdot \frac{3}{2} \cdot \frac{1}{2} \Gamma\left(\frac{1}{2}\right) = \frac{15}{8} \sqrt{\pi}$
 (4) $\Gamma\left(\frac{11}{2}\right) = \frac{9}{2} \cdot \frac{7}{2} \Gamma\left(\frac{1}{2}\right) = \frac{63}{4} \cdot \frac{15}{8} \sqrt{\pi} = \frac{945}{32} \sqrt{\pi}$ (3)
 6 (1) $B(2, 2) = \frac{\Gamma(2)^2}{\Gamma(4)} = \frac{1^2}{3!} = \frac{1}{6}$
 (2) $B\left(\frac{7}{2}, \frac{9}{2}\right) = \frac{\Gamma\left(\frac{7}{2}\right)\Gamma\left(\frac{9}{2}\right)}{\Gamma(8)} = \frac{\frac{15}{8} \sqrt{\pi} \cdot \frac{105}{8} \sqrt{\pi}}{7!} = \frac{(15/8)^2 \pi}{2 \cdot 6!}$
 $= \frac{5}{2^{11}} \pi = \frac{5}{2048} \pi$
 (3) $I = \int_0^{\pi/2} \sin^{2 \cdot \frac{7}{2} - 1} x \cos^{2 \cdot 4 - 1} x dx = \frac{1}{2} B\left(\frac{7}{2}, 4\right)$
 $= \frac{1}{2} \frac{\Gamma\left(\frac{7}{2}\right)\Gamma(4)}{\Gamma\left(\frac{15}{2}\right)} = \frac{1}{2} \frac{\frac{15}{8} \sqrt{\pi} \cdot 3!}{\frac{13}{2} \cdot \frac{11}{2} \cdot \frac{9}{2} \cdot \frac{7}{2} \Gamma\left(\frac{1}{2}\right)} = \frac{16}{3003}$ (3)

7. $t = \frac{1}{1+x}$ より $dt = -\frac{1}{(1+x)^2} dx = -t^2 dx$
 $\therefore dx = -\frac{1}{t^2} dt, x = \frac{1}{t} - 1 = \frac{1-t}{t}$
 $\frac{x^{3/2}}{(1+x)^4} = \left(\frac{1-t}{t}\right)^{3/2} t^4 = t^{5/2} (1-t)^{3/2}$ (2) (3)
 $\frac{x}{0 \rightarrow \infty} \quad t \quad 1 \rightarrow 0 \therefore I = \int_0^1 t^{5/2} (1-t)^{3/2} t^{-2} dt$
 $I = \int_0^1 t^{1/2} (1-t)^{3/2} dt = B\left(\frac{3}{2}, \frac{5}{2}\right) = \frac{\Gamma\left(\frac{3}{2}\right)\Gamma\left(\frac{5}{2}\right)}{\Gamma(4)}$ (4) (5) (6) (7)
 $= \frac{3/2 \cdot \Gamma\left(\frac{3}{2}\right)^2}{3!} = \frac{\pi}{16}$ (8) (9) (10) (11) (12) (13) (14) (15) (16) (17) (18) (19) (20) (21) (22) (23) (24) (25) (26) (27) (28) (29) (30) (31) (32) (33) (34) (35) (36) (37) (38) (39) (40) (41) (42) (43) (44) (45) (46) (47) (48) (49) (50) (51) (52) (53) (54) (55) (56) (57) (58) (59) (60) (61) (62) (63) (64) (65) (66) (67) (68) (69) (70) (71) (72) (73) (74) (75) (76) (77) (78) (79) (80) (81) (82) (83) (84) (85) (86) (87) (88) (89) (90) (91) (92) (93) (94) (95) (96) (97) (98) (99) (100)

8. $t = \sqrt{\log \frac{1}{x}}$ とおくと $-\log x = t^2 \therefore x = e^{-t^2}$
 $dx = -2te^{-t^2} dt$ とおくと $\frac{x}{0 \rightarrow 1} \quad t \quad \infty \rightarrow 0$
 $I = 2 \int_0^{\infty} t^2 e^{-t^2} dt = \left[-te^{-t^2}\right]_0^{\infty} + \int_0^{\infty} e^{-t^2} dt$
 $\lim_{t \rightarrow \infty} \frac{t}{e^{t^2}} = \lim_{t \rightarrow \infty} \frac{1}{2te^{t^2}} = 0$ とおくと
 $I = \int_0^{\infty} e^{-t^2} dt = \frac{\sqrt{\pi}}{2}$ (5)

9. 变量分离形 $\frac{1}{N(N-P)} \frac{dN}{dt} = -k$

$$\int \frac{dN}{N(N-P)} = \frac{1}{P} \int \left(\frac{1}{N-P} - \frac{1}{N} \right) dN = \frac{1}{P} \log \left| \frac{N-P}{N} \right|$$

$$\therefore \log \left| \frac{N-P}{N} \right| = -kPt + C$$

$$\frac{N-P}{N} = ce^{-kPt} \therefore \frac{P}{N} = 1 - ce^{-kPt}$$

$$\therefore N = \frac{P}{1 - ce^{-kPt}}, N(0) = \frac{P}{1-c} = \alpha P \text{ 且}$$

$$c = 1 - \frac{1}{\alpha} = \frac{\alpha-1}{\alpha} \therefore N = \frac{\alpha P}{\alpha + (\alpha-1)e^{-kPt}} \quad (61)$$

10 (1) $y' = 2x^{2-1}, y'' = 2(2-1)x^{2-2}$ 同 3

$$\{ \alpha(\alpha-1) - 3\alpha + 4 \} x^\alpha = 0 \therefore \alpha^2 - 4\alpha + 4 = 0 \therefore y_1 = x^2$$

(2) $y_2' = u'y_1 + uy_1', y_2'' = u''y_1 + 2u'y_1' + uy_1''$ 且

$$x^2(x^2u'' + 4xu') - 3x^3u' = 0 \therefore x^2u'' + u' = 0 \quad (x \neq 0 \text{ 且})$$

$$u' = v \text{ 且 } v' + v = 0 \quad \int \frac{dv}{v} = - \int \frac{dx}{x} + C_1$$

$$\therefore v = C_1 \left(\frac{1}{x} \right), C_1 = 1 \text{ 且 } v = \frac{1}{x} \therefore u = \int \frac{dx}{x}$$

$$u = \log x \therefore y_2 = uy_1 = x^2 \log x \quad (3 \text{ 解})$$

[1] x [2] $\frac{1}{x}$ [3] $\log x$ [4] $x^2 \log x$

(3) $W(y_1, y_2) = \begin{vmatrix} x^2 & x^2 \log x \\ 2x & 2x \log x + x \end{vmatrix} = x^3$

(4) $t = \log x (x = e^t)$ 且 $\frac{dy}{dx} = \frac{dy}{dt} \frac{dt}{dx} = \frac{1}{x} \frac{dy}{dt}$, 同 10 (1)

$$\frac{d^2y}{dx^2} = -\frac{1}{x^2} \frac{dy}{dt} + \frac{1}{x^2} \frac{d^2y}{dt^2} \text{ 且 } \frac{d^2y}{dt^2} - 4 \frac{dy}{dt} + 4y = 0$$

$$\frac{d^2y}{dt^2} - 4 \frac{dy}{dt} + 4y = 0 \text{ 特征方程 } \lambda^2 - 4\lambda + 4 = 0 \text{ 且}$$

2重解 $\lambda = 2$ 且 $\alpha = 2$ 且 $\beta = 2$

$$y = (C_1 + C_2 t) e^{2t}$$

$t = \log x$ 且 $e^{2t} = (e^t)^2 = x^2$

$$y = (C_1 + C_2 \log x) x^2 \quad (e^{2t} = (e^t)^2 \text{ 且}) \quad (61)$$